DETAILED COMMITMENTS BY DEVELOPMENT PARTNERS

						(Figures in	Million)
DEVELOPMEN T PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANG E RATE
ADB	GRANT	Coastal Towns Climate Resilience Sector Project	26-Dec-22	USD	4.000	4.000	1.000
ADB	GRANT	Mainstreaming Water Resilience in Asia and the Pacific	29-Aug-22	USD	5.000	5.000	1.000
ADB	GRANT	Nowcasting and Disasters: Impact-based Forecasting and Socioeconomic Monitorin (KSTA 6536-REG)	29-May-23	USD	2.000	2.000	1.000
ADB	GRANT	Strengthenthen performance Audit Capacity in Asia and the Specific	29-Jan-23	USD	1.000	1.000	1.000
ADB	GRANT	Supporting Fourth Primary Education Development Program–Additional Financing	5-Jun-23	USD	12.400	12.400	1.000
ADB	GRANT	Supporting Water Supply and Sanitation Regulatory Machanism Development	21-Mar-23	USD	1.000	1.000	1.000
ADB	GRANT	TA 6930-REG: Accelerating Climate Finance Investments through the Financial Sector in Bangladesh and Nepal	30-May-23	USD	0.600	0.600	1.000
ADB	GRANT	TA 6950-BAN: Supporting Education Project REG: Strengthening Capacity to desi	4-Dec-22	USD	1.500	1.500	1.000
ADB	GRANT	TA 6977 REG: Strengthening Capacity to design and implement climate resielent project	14-Nov-22	USD	3.450	3.450	1.000
ADB	GRANT	TA institutional strengthening for microenterprise financing.	29-Dec-22	USD	1.000	1.000	1.000
ADB	GRANT	Transaction TA: supporting SASEC integrated Trade Facilitation Sector Development Program.	29-Dec-22	USD	1.500	1.500	1.000
ADB	GRANT	Using Frontier Tecnology and Big DATA Analytics for smart Infrastructure facility Planning and Monitoring	19-Mar-23	USD	2.000	2.000	1.000
ADB	LOAN	Coastal Towns Climate Resilience Project, 4237-BAN(COL)	26-Dec-22	USD	150.000	150.000	1.000
ADB	LOAN	Coastal Towns Climate Resilience Project, 4238-BAN(OCR)	26-Dec-22	USD	96.000	96.000	1.000
ADB	LOAN	Microenterprise Financing and Credit Enhancement Project, 4247-BAN(COL)	6-Dec-22	USD	200.000	200.000	1.000
ADB	LOAN	MFF: Third Public-Private Infrastructure Development Facility-Tranche 2, 4254- BAN(OCR)	26-Dec-22	USD	262.290	262.290	1.000
ADB	LOAN	MFF: Third Public-Private Infrastructure Development Facility-Tranche 2, 4255- BAN(COL)	26-Dec-22	USD	16.000	16.000	1.000
ADB	LOAN	Greater Dhaka Sustainable Urban Transport Project - Additional Financing, 4284-BAN(OCR)	26-Dec-22	USD	100.000	100.000	1.000

DETAILED COMMITMENTS BY DEVELOPMENT PARTNERS

						(Figures in	Million)
DEVELOPMEN T PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANG E RATE
ADB	LOAN	Flood Reconstruction Emergency Assistance Project, 4305-BAN(COL)	17-Apr-23	USD	230.000	230.000	1.000
ADB	LOAN	Sustainable Economic Recovery Program (Subprogram 2), 4319-BAN(OCR)	14-Jun-23	USD	400.000	400.000	1.000
ADB	LOAN	South Asia Subregional Economic Cooperation the SASEC Chittagong-Cox's Bazar Railway Project, Phase 1 - Tranche 3, 4321-BAN(OCR)	25-Jun-23	EURO	368.358	398.628	1.082
ADB total in C	urrency			USD	1489.740	1489.740	
				EURO	368.358	398.628	
ADB Grant Tot	al: Equivalent	USD				35.450	
ADB Loan Tota	al: Equivalent L	JSD				1852.918	
ADB Total: Eq	uivalent USD					1888.368	
AIIB	GRANT	Bangladesh City Inclusive Sanitation Program in 25 Towns	8-Mar-23	USD	3.500	3.500	1.000
AIIB	LOAN	Strengthening Social Resilience Program (Subprogram-2)	7-Dec-22	USD	250.000	250.000	1.000
AIIB	LOAN	Sustainable Economic Recovery Program (Subprogran 2)	14-Jun-23	USD	400.000	400.000	1.000
AIIB total in Currency			USD	653.500	653.500		
AIIB Grant Tot	al: Equivalent I	JSD				3.500	
AIIB Loan Tota	ıl: Equivalent U	SD				650.000	
AIIB Total: Eq	uivalent USD					653.500	
CHINA	LOAN	Rajshahi WASA Surface Water Treatment Plant Project.	10-May-23	USD	276.250	276.250	1.000
CHINA total in	Currency			USD	276.250	276.250	
CHINA Grant T	otal: Equivaler	nt USD				0.000	
CHINA Loan To	otal: Equivalen	t USD				276.250	
CHINA Total: I	Equivalent USL					276.250	
EU	GRANT	EU Support to National Social Security Strategic Reforms in Bangladesh	15-Sep-22	EURO	100.000	99.136	0.991
EU total in Cur	rency			EURO	100.000	99.136	
EU Grant Tota	l: Equivalent U	SD				99.136	
EU Loan Total:	EU Loan Total: Equivalent USD					0.000	
EU Total: Equivalent USD						99.136	
FAO	GRANT	Scaling up the sustainable management of the fall armyworm in Africa, the neareast and Asia	6-Apr-23	USD	0.090	0.090	1.000
FAO	GRANT	Sustainable Management of Fisheries, Marine living Resources and their habitates in the Bay of Bengal Region for the benefit of Coastal Estates and Communities	22-May-23	USD	0.505	0.505	1.000

DETAILED COMMITMENTS BY DEVELOPMENT PARTNERS

						(Figures in	Million)
DEVELOPMEN T PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANG E RATE
FAO	GRANT	Support to Established crop based nutrition smart village and promotion of nutrition information campaign	11-Dec-22	USD	0.250	0.250	1.000
FAO	GRANT	Support to the development of Jackfruit value chain through post harvest loss reduction and promotion of value added products	11-Dec-22	USD	0.225	0.225	1.000
FAO	GRANT	Piloting light detection and ranging technology (LIDAR) for fast tracking agricultural transformation and sustainable development	11-Dec-22	USD	0.239	0.239	1.000
FAO	GRANT	Green cities initiatives (GCI) building back better for climate and resilient sustainable transition	11-Dec-22	USD	0.080	0.080	1.000
FAO total in Cu	urrency			USD	1.389	1.389	
FAO Grant Tot	FAO Grant Total: Equivalent USD					1.389	
	ıl: Equivalent L	SD				0.000	
FAO Total: Eq	uivalent USD					1.389	
FRANCE (AFD)	GRANT	CBD 103101S Energy efficiency, Renewable Energy and Women Entrepurship liked Project.	27-Feb-23	EURO	0.560	0.600	1.071
FRANCE (AFD)	GRANT	Sustainable Municipal Infrastructure Financing Project	7-Nov-22	EURO	0.500	0.510	1.019
FRANCE (AFD)	LOAN	Bangladesh Environmental Sustainablity and Transformation (BEST)	22-Jun-23	EURO	40.000	43.287	1.082
FRANCE (AFD)	LOAN	Chattogram Metropolitan Sewerage Project for North Kattoli Catchment-5	22-Jun-23	EURO	175.000	189.381	1.082
FRANCE (AFD)	LOAN	Greater Dhaka Sustainable Urban Transport Project (GDSUTP)	22-Jun-23	EURO	62.000	67.095	1.082
	total in Currer			EURO	278.060	300.873	
	Grant Total: E					1.110	
	Loan Total: Eq					299.763	
FRANCE (AFD)	Total: Equival	ent USD				300.873	
CEDMANN		Climate Change Adams 111					
GERMANY (KFW/GIZ)	GRANT	Climate Change Adapted Urban Development Programme Phase III	15-Nov-22	EURO	33.500	34.153	1.019
GERMANY (KFW/GIZ)	GRANT	Climate Change Adapted Urban Development Programme(CCAUD) Phase II-Khulna	7-Dec-22	EURO	31.500	33.298	1.057
GERMANY (KFW/GIZ)	GRANT	Renewable Energy Programme II & III Loan + Grant (19.48)	23-Dec-22	EURO	19.500	20.613	1.057
GERMANY (KFW/GIZ)	GRANT	Energy Efficiency In The Industry- Accompnying measure	23-Dec-22	EURO	2.000	2.114	1.057
GERMANY (KFW/GIZ)	LOAN	"Energy Efficiency in the Industry"	23-Dec-22	EURO	80.000	84.567	1.057

DETAILED COMMITMENTS BY DEVELOPMENT PARTNERS

						(Figures in Million)	
DEVELOPMEN T PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANG E RATE
GERMANY (KFW/GIZ)	LOAN	Renewable Energy Programme II (IDCOL) Loan + Grant (19.48)	23-Dec-22	EURO	80.000	84.567	1.057
GERMANY (KF	W/GIZ) total in	Currency		EURO	246.500	259.312	
		Total: Equivalent USD				90.178	
•	<u> </u>	otal: Equivalent USD				169.134	
GERMANY (KF	W/GIZ) Total:	Equivalent USD				259.312	
IDA	LOAN	Local Government Covid-19 Response & Recovery Project (LGCRRP). IDA 7033	7-Aug-22	SDR	214.400	282.070	1.316
IDA	LOAN	Sustainable Microenterprise and Resilient Transformation (SMART). IDA 7300	28-Apr-23	SDR	188.200	253.857	1.349
IDA	LOAN	Rural Transformation for Nutrition, Entrepreneurship and Resilience in Bangladesh (PARTNER). IDA 7299	7-Jun-23	SDR	376.300	501.967	1.334
IDA	LOAN	Higher Education Accelaration and Transformation Project (HEAT). IDA 6939	13-Jun-23	SDR	133.100	177.549	1.334
IDA	LOAN	Bangladesh Environmental Sustainability and Transformation Project (BEST). IDA 7226	28-Apr-23	SDR	195.400	263.569	1.349
IDA	LOAN	First Bangladesh Green & Climate Resilient Development (Credit A, GCRD). IDA 7301	28-Apr-23	SDR	123.432	166.494	1.349
IDA	LOAN	First Bangladesh Green & Climate Resilient Development (Credit B, GCRD). IDA 7302	28-Apr-23	SDR	252.850	341.062	1.349
IDA	LOAN	Accelerating Transport and Trade Connectivity in Eastern South Asia (ACCESS)-Bd Phase I Project. IDA 7166	28-Apr-23	SDR	560.500	756.041	1.349
IDA	LOAN	Resilient Infrastructure for Adaption and Vulnerability Reduction Project (RIVER). IDA 7167	28-Apr-23	SDR	372.000	501.779	1.349
IDA	LOAN	Bangladesh Road Safety Project. IDA 7059	7-Jun-23	SDR	257.300	343.226	1.334
IDA total in Cu				SDR	2673.482	3587.615	
	al: Equivalent L					0.000	
IDA Loan Total: Equivalent USD						3587.615	
IDA Total: Equ	ııvalent USD					3587.615	
IFAD	LOAN	Program on Agricultural and Rural Transformation for Nutritiohn, Entrepreneuship, and Resilience (PARTNER)-2000004603	30-Jun-23	SDR	31.950	42.620	1.334
IFAD total in Currency				SDR	31.950	42.620	
	tal: Equivalent					0.000	
	al: Equivalent l	JSD				42.620	
IFAD Total: Eq	uivalent USD					42.620	

DETAILED COMMITMENTS BY DEVELOPMENT PARTNERS

						(Figures in Million)	
DEVELOPMEN T PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANG E RATE
ILO	GRANT	ILO-DFID Child Labour Programme in Asia: Design Phase	5-Sep-22	USD	1.200	1.200	1.000
ILO total in Cu	rrency			USD	1.200	1.200	1.000
ILO Grant Tota	ıl: Equivalent L	JSD				1.200	
ILO Loan Total	: Equivalent U	SD				0.000	
ILO Total: Equ	ivalent USD					1.200	
JAPAN	GRANT	Fourth Primary Education Development Program (Pedp-4)	30-Jun-23	JPY	500.000	3.542	0.007
JAPAN	GRANT	'The Project for Improvement of Governance and Management Research & Training Facilities'	20-Feb-23	JPY	330.000	2.483	0.008
JAPAN	GRANT	The Project for Human Resource Development Scholarship (JDS)	26-Oct-22	JPY	476.000	3.241	0.007
JAPAN	GRANT	The Project for the inprovement of equipment for technical education	13-Mar-23	JPY	997.000	7.455	0.007
JAPAN	LOAN	Chattrogram-Cox's Bazar High way improvement Project	29-Mar-23	JPY	55729.000	416.700	0.007
JAPAN	LOAN	Construction of Dual Gauge Double Line between Joydebpur to Ishwardi section Project(E/S)(43rd YLP 2nd batch)	29-Mar-23	JPY	4228.000	31.614	0.007
JAPAN	LOAN	Development Policy Loan for Strengthening Public Financial Management	27-Jun-23	JPY	30000.000	212.537	0.007
JAPAN	LOAN	Maatabari Port Deevelopment Project (Ttranch-II)	29-Mar-23	JPY	105362.000	787.818	0.007
JAPAN total in	Currency			JPY	197622.000	1465.391	
JAPAN Grant T	otal: Equivaler	nt USD				16.722	
JAPAN Loan To	otal: Equivalen	t USD				1448.669	
JAPAN Total: I	Equivalent USI	D				1465.391	
SOUTH KOREA	LOAN	Replacement and Modernization of Signaling and Interlicking System of Stations of Ishurdi Parbatipur Section in West Zone of Bangladesh Railway	4-May-23	KRW	79559.860	59.899	0.001
SOUTH KOREA				KRW	79559.860	59.899	
		equivalent USD				0.000	
SOUTH KOREA Loan Total: Equivalent USD SOUTH KOREA Total: Equivalent USD						59.899	-
SOUTH KUKEA	i rotal: Equiva	ment USD				59.899	
THE UNION (\	GRANT	Strenthening of Tobacco Control in Bangladesh through institutionalization of NTCC, FCTC compliant TC framework & implementation of NTCP	21-Dec-22	USD	0.174	0.174	1.000
THE UNION (V	ITAL STRATEG	Y) total in Currency		USD	0.174	0.174	
THE UNION (V	ITAL STRATEG	Y) Grant Total: Equivalent USD				0.174	

DETAILED COMMITMENTS BY DEVELOPMENT PARTNERS

						(Figures in	Million)
DEVELOPMEN T PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANG E RATE
THE UNION (V	'ITAL STRATEG'	Y) Loan Total: Equivalent USD				0.000	
THE UNION (V	ITAL STRATEG	Y) Total: Equivalent USD				0.174	
UNESCO	GRANT	Building capacity for diagnostic and formative assessment to identify and mitigate learning losses, in particular those encountered during the COVID-19 pandemic	31-Mar-23	USD	0.021	0.021	1.000
UNESCO	GRANT	Context Analysis and Nedds Assessment on Science, Technology, Engineering, Mathematics (STEM) Education and Careers with a gender lens: Current Status, Opportunity, Challenges and Way Forward in Bangladesh	31-Mar-23	USD	0.015	0.015	1.000
UNESCO total	in Currency			USD	0.036	0.036	
UNESCO Gran	t Total: Equival	ent USD				0.036	
UNESCO Loan Total: Equivalent USD						0.000	
UNESCO Total	l: Equivalent U	SD				0.036	
UNFPA	GRANT	Integrating population Dynamics and Development issues into National Plans and Policies (PD4 Development Project 1 January 2023-31 December 2026	30-Nov-22	USD	0.310	0.310	1.000
UNFPA	GRANT	Life Skills Educationi in youth Training Centers and Strenthening of National Youth Platform Project	31-Oct-22	USD	0.396	0.396	1.000
UNFPA	GRANT	Accelerating Action to End Child Marriage in Bangladesh (Phase II) 1 January 2023-31 December 2024	31-Jan-23	USD	1.109	1.109	1.000
UNFPA total ir	n Currency			USD	1.815	1.815	
UNFPA Grant	Total: Equivale	nt USD				1.815	
	otal: Equivaler					0.000	
UNFPA Total:	Equivalent US	<i>D</i>				1.815	
UNICEF	GRANT	Outcome 1: Health (Original Signing Date: 03-03-2022, Revised Date for previous adjustment: July 2023)	31-Jul-22	USD	59.982	59.982	1.000
UNICEF	GRANT	Outcome 2: Nutrition (Original Signing Date: 03-03-2022, Revised Date for previous adjustment: July 2023)	31-Jul-22	USD	19.273	19.273	1.000
UNICEF	GRANT	Outcome 3: Edcuation (Original Signing Date: 03-03-2022, Revised Date for previous adjustment: July 2023)	31-Jul-22	USD	41.691	41.691	1.000
UNICEF	GRANT	Outcome 4: Child Protection (Original Signing Date: 03-03-2022, Revised Date for previous adjustment: July 2023)	31-Jul-22	USD	20.686	20.686	1.000

Ta	P-3 17

DETAILED COMMITMENTS BY DEVELOPMENT PARTNERS

				(Figures in	Million)		
DEVELOPMEN T PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANG E RATE
UNICEF	GRANT	Outcome 5: Wash (Original Signing Date: 03-03-2022, Revised Date for previous adjustment: July 2023)	31-Jul-22	USD	25.235	25.235	1.000
UNICEF	GRANT	Outcome 6: Social Protection And Social Policy (Original Signing Date: 03-03-2022, Revised Date for previous adjustment: July 2023)	31-Jul-22	USD	13.751	13.751	1.000
UNICEF	GRANT	Outcome 7: Programme Effectiveness (Emergency Coordination And Field Services) (Original Signing Date: 03-03- 2022, Revised Date for previous adjustment: July 2023)	31-Jul-22	USD	47.077	47.077	1.000
UNICEF total i				USD	227.695	227.695	
UNICEF Grant	Total: Equivale	nt USD				227.695	
UNICEF Loan 1	Total: Equivaler	nt USD				0.000	
UNICEF Total:	Equivalent US	D				227.695	
USA/USAID	GRANT	Development Objective (Doag)=1St, 2Nd, 3Rd Amendment (1st & 2nd: 27.09.2021, 3rd: Sep 2023)	5-Sep-22	USD	205.311	205.311	1.000
USAID total in Currency			USD	205.311	205.311		
USAID Grant Total: Equivalent USD						205.311	
USAID Loan Total: Equivalent USD						0.000	
USAID Total: I	Equivalent USE					205.311	
Grant Total: E Loan Total: E GRAND TOTAL	-					683.715 8386.867 9070.582	